| Efficiency vs Dxy |
.05
S S N N T N T T
]

] e S
o S A A
e A S A 0 S A
© Foo : : : : : : : :
0.03F it
YL e e
002— ------- e
T T i

X0 0 e e o o
e T e

1

Ratio

1.1

.....................................................................

1

_2520-15-10 =50 5 10 15 20 25
TP dxy (cm)

—=— DQM_V0001_R000000001__Global__mkFit_baseline
| Efficiency vs Dz | —e— DQM_V0001_R0O00000001__Global__mkFit_var

0.1 —— DQM_V0001_R000000001__Global__mkFit_jcoreNoClean
N U, ; T T T
> : :

) 00
o ; : : ; :
e R 1 S S

TTTT
—H—

B39 20 <10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


